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Directions: For this section, solve each problem and decide which is the best of
the choices given. Fill in the corresponding oval on the answer sheet. You may
use any available space for scratchwork.

Time—20 Minutes
16 Questions

1. Calculator use is permitted.
2. All numbers used are real numbers.

3. Figures are provided for some problems. All figures are drawn to scale and lie in a plane UNLESS otherwise
indicated.

Notes

4, Unless otherwise specified, the domain of any function fis assumed to be the set of all real numbers x for
which f(x) is a real number.
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g The sum of the measures in degrees of the angles of a triangle is 180.
IS8 The number of degrees of arc in a circle is 360.
el A straight angle has a degree measure of 180.
n 1f 7.708 < x < 7.8, which of the following could be the E If P, Q, R, and $ are four points on a line such that Q is
value of x? between P and R, and S is between Q and R, then it
(A) 7.808 must also be true that Q
(B) 7.907 (A))Qisbetween Pand S —~—— gt
@ 7.75 Ris between Q and S ‘; S K
(D) 7.07 (C) Sis between Pand Q
(E) 7.88 (D) Pisbetween S and R

(E) Pisbetween Qand R
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Ed 1£7n + 4 = 10n - 8, then what is the value of 4n? Ed A certain printer takes 4 minutes to print file A and 5
(A) 1 minutes to print file B. In one hour, how many more
(B) 4 copies of file A can be printed than of file B?
(C) o6 (A) 12
(D) 12 (B) 9
1 (C) 6
@D
(E) 3
(2 = 30

Y =N
o=

K if[1-x| =1, then x could be any of the following

EXCEPT:
(A) -2 -
(B) -1 |=x, o (i 7
o |
D) ~X <~
(B) 2 -+ %o ¢
“K €
X<o A
S

60°

n In the hexagon above, three diagonals intersect at a
point. What is the value of g + b?

@ 5
95
(C) 100
(D) 105

(E) 110
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n If a bowl contains r red marbles and b blue marbles and
no other marbles, what is the ratio of the number of red
marbles to the total number of marbles in the bowl?

(A) rtob

(B) btor

(C) rtorb

(D) bto(r+b)
rto(r+b)

ﬂ If X is the set of positive integers with exactly one prime
factor and Y is the set of integers from 1 to 50 inclusive,
then the intersection of X and Y contains how many

eleniens?
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EJ 11175 percent of x is 140, what is x percent of 402
(A) 30

(C) 42
(D) 98
(E) 100

39-X = Yo

Yo - ®o
(\#5

Po. #‘(o
= \-%J‘k{o =

X =

32

~ |
19 }_Fnk
w On a map, % inch represents 32 feet. If a certain trail is
256 feet long, what is its length, in inches, on the map?

16 256 ,3-3% = 25C 4= 32
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m If p and g are integers greater than 1, then p'? must be
greater than g* when p is equal to which of the
following?

A) q:‘

(B] q |’L ‘t%
(C) 59 \‘J 7q

(D) 4q

(E) q+ 37 b

o 7
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m A certain population of bacteria triples every 3 minutes,
If the number of bacteria in the population initially was
319, what was the number in the population one half-
hour later?

(A) 3]I

(B) 10(3'%)

(C 3)(310)
20

fE) 3100

m A set consists of all the positive three-digit integers with
the property that each digit is either a 1 or a 2. For how
many of these three-digit elements of the set is the
average of the units, tens, and the hundreds digit an
integer?

(A) 4
(B) 3
(D) 1
(E) O

m An integer n is to be chosen at random from a set of 12

consecutive positive integers. Which of the following
must be less than -2—?

I. The probability that » is the median of the set
II. The probability that n is odd
III. The probability that # is a multiple of 3

(A) Tonly
(B) M only
(C) III only

(E) ITI, and 111
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¥ (3, 10)
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w What is the area nlhrecgangle OXYZ in the figure above?
L]
(A) 9
(B) 13
(C) 15

(E) 100

m Line I has an equation of y = 4x + 5. If line m is parallel
to line [ and passes through the point (2, 6), what is the
y-intercept of line m?

(A) -14 R | e M=y

(B) -8

%}D M= mxth
(E) 5 é L(nl'i'\O
G - B+b

fre

I

o=+

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON

THIS SECTION ONLY. DO NOT TURN TO ANY OTHER SECTION IN THE TEST.
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